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Question Number : 1 Question Id : 36496349127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The development period in which internalised norms are questioned and the opinions of the peer group usually become more important

than family is called
Options :

1. Infancy

2. Early Childhood
3. Middle childhood
4. Adolescence

Question Number : 1 Question Id : 36496349127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 36496349128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Seeing that their son Ravi was interested in reading and could read at the age of 3, his parents got him a lot of books. Due to his parents'
encouragement Ravi's reading was way advanced as per his age.

Which principle of development can be inferred from the above example?
Options :

1. Development does not follow a predictable path.

2. Development is proximodistal.

3. Development is cephalocaudal

4. Development is a result of interaction between heredity and environment.

Question Number : 2 Question Id : 36496349128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 36496349129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which period of development comprises each of the following characteristics: establishment of independence, development of identity and
abstract thinking?

Options :

1. Middle childhood.
2. Late childhood.

3. Adolescence

4. Early Adulthood

Question Number : 3 Question Id : 36496349129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 36496349130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements about socialization is correct?

Options :

1. There is a uniform way of socialization across cultures.

2. Socialization is a complex process in which several agencies influence children during various times in their life-span.

3. Media and family are secondary agencies of socialization.

4. Secondary socialization occurs first when the children learn their individual identity and acquire language.

Question Number : 4 Question Id : 36496349130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 36496349131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following theorist used 'coqneline developmental' approach to explain the moral reasoning among children ?
Options :

1. Howard Gardner

2. Jean Piaget

3. Joan Turiel

4. Michael Oser

Question Number : 5 Question Id : 36496349131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 36496349132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

"Children activity construct their understanding of the world" is proposed by

Options :

1. E. L. Thorndike

2. B. F. Skinner

3. Jean Piaget

4. Ivan Pavlov

Question Number : 6 Question Id : 36496349132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 36496349133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In context of teaching - learning, which of the following strategy is discouraged by Lev Vygotsky?

Options :

1. Co-operative Learning

2. Scaffolding

3. Assisted Learning

4. Expository teaching

Question Number : 7 Question Id : 36496349133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 36496349134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While arranging the pieces of a puzzle Meethi speaks aloud to direct her own actions. Lev Vygotsky refers to the use of such language for
self regulation as -

Options :

1. Egocentric Speech
2. Private Speech

3. Social Speech

4. Irrational Speech

Question Number : 8 Question Id : 36496349134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 36496349135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Lawrence Kohlberg's theory of moral development, at which stage of moral development do individuals define right action
by self-chosen ethical principles of conscience that are valid for all humanity, regardless of law and social agreement?

Options :

1. The social contract orientation.

2. The Universal ethical principal Orientation.
3. The social order maintaining orientation.

4. The instrumental purpose orientation.

Question Number : 9 Question Id : 36496349135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 36496349136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a progressive classroom, a teacher facilitates the children to work in groups to achieve a common learning task. This will promote
among students.

Options :

1. competition

2. cooperative learning
3. rivalry

4. frustration

Question Number : 10 Question Id : 36496349136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 36496349137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following intelligence types are included in Howard Gardner's theory of multiple intelligences?

Options :

1. Analytical, Linguistic, Spatial

2. Creative , Analytical, Practical

3. Linguistic, Logico-mathematical, Musical

4. Fluid, Crystalized, General

Question Number : 11 Question Id : 36496349137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 36496349138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

For breaking gender stereotypes in children, which among the following should be avoided?

Options :

1. Joint endeavours with children of other genders.

2. Exposure to adults engaged in no stereotypical activities.

3. making generic utterances such as 'Girls are good in art' and 'boys excel in maths'

4. Critical discussions around 'inborn abilities' and 'societal perception of abilities' of various genders.

Question Number : 12 Question Id : 36496349138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 36496349139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Assertion (A): A teacher should not cater to individual differences in the class.

Reason (R): The purpose of progressive education is to ensure that all children are instructed in a uniform manner and assessed by
standard methods.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A) is true but (R) is false

4. Both (A) and (R) are false

Question Number : 13 Question Id : 36496349139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 36496349140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the context of assessment, what kind of report card for students has been proposed in National Education Policy (NEP) 2020?
Options :

1. Report cards specifying relative performance of the student in comparison to others

2. Report cards of students performance in paper and pencil tests through the year.

3. 360 degree multi-dimensional report card

4. summative uni-dimensional report cards

Question Number : 14 Question Id : 36496349140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 36496349141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following questions would assess critical thinking?

Options :

1. What is the formula for (a + b)2?

2. Write chemical formula of methane.

3. What could be the various reasons for shortage of food?

4. What is the depositional feature of a glacier called?

Question Number : 15 Question Id : 36496349141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 36496349142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a language class, which of the following strategy should be avoided for successful conclusion of students with dyslexia?
Options :

1. Setting strict time lines for submission of hand-written work.

2. Allow voice - recorders instead of note - taking in class.

3. Allow typed and printed assignment instead of handwritten.

4. Provide opportunities for reading and writing at individual pace.

Question Number : 16 Question Id : 36496349142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 36496349143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A Learning difficulty marked by low span of attention, impulsiveness and a low tolerance for frustration, is referred as -

Options :

1. Attention Deficit Hyperactivity Disorder

2. Autism

3. Visual Impairment

4. Dyscalculia

Question Number : 17 Question Id : 36496349143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 36496349144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A condition characterized by significant limitations both in reasoning, learning, problem solving and in adaptive behaviour including
social and practical skills will be known as

Options :

1. Hearing impairment
2. Visual impairment

3. Loco motor disability
4. Intellectual disability

Question Number : 18 Question Id : 36496349144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 36496349145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Assertion (A): Inclusion means, students experiencing difficulties learn in isolated sections in a regular school

Reason (R) : Such a practice prepares students experiencing learning difficulties for participation in society

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A) is true but (R) is false

4. Both (A) and (R) are false.

Question Number : 19 Question Id : 36496349145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 36496349146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an important factor of creativity?

Options :

1. Originality

2. Convergent Thinking

3. Fluency

4. Flexibility

Question Number : 20 Question Id : 36496349146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 36496349147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
In a socio-constructivist classroom, what all would be a source of knowledge?

(i) Newspapers
(i) Peers

(iii) Textbooks
(iv) Folktales

Choose the correct option.
Options :

1. (ii), (iii)

2. (1), (ii), (iii)

3. (i), (iii), (iv)

4. (1), (ii), (iid), (iv)

Question Number : 21 Question Id : 36496349147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 36496349148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
What does 'active engagement' of learners involve?

(i) Enquiry and questioning.
(ii) Reproduction and recall.
(iii) Application and reflection.
(iv) Debate and discussion.

Choose the correct option.
Options :

1. (i),(ii), (iv)

2. (1), (ii1), (i)

3. (i), (iii), (iv)

4. (ii), (iii), (iv)

Question Number : 22 Question Id : 36496349148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 36496349149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Allowing learners maximum freedom within a resource rich environment and facilitating them to construct knowledge for themselves,
indicate towards which approach?

Options :

1. Discovery Learning

2. Text-book centred learning
3. Expository teaching

4. Behaviouristic teaching

Question Number : 23 Question Id : 36496349149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 36496349150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Alternative conceptions among children:

Options :

1. are unusual to get formed

2. are purely illogical and erroneous

3. represents their intuitive theories

4. should not be attended by the teacher

Question Number : 24 Question Id : 36496349150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 36496349151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Assertion (A) : Adolescents should be provided lot of opportunities for discussion and debate in the classroom.

Reason (R) : Collaborative learning provides room for negotiation of meaning and sharing of multiple views.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A) is true but (R) is false

4. Both (A) and (R) are false.

Question Number : 25 Question Id : 36496349151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 36496349152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To encourage conceptual change among students, a teacher should -

Options :

1. give long passages to rote memorize.

2. present content which is moderately challenging and requires modification of schemas.

3. present information in disconnected chunks.

4. give tasks which are way higher than children's current cognitive level.

Question Number : 26 Question Id : 36496349152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 36496349153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
belief of ability implies that efforts are meaningful in achieving success.
Options :
1. Competitive
2. Entity
3. Incremental
4. Avoidance-based

Question Number : 27 Question Id : 36496349153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 36496349154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A constructive classroom would include tasks that are -

(i) moderately difficult.

(i1) based on recalling the text.
(iii) repetitive and mechanical.
(iv) group work.

Choose the correct option.
Options :

1. (ii), (iii)

2. (i), (ii)

3. (i), (iv)

4. (1), (ii), (iii)

Question Number : 28 Question Id : 36496349154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 36496349155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student is likely to experience when attribution for success is considered internal and when attribution for failure is
considered external.

Options :

1. Anxiety, Relief
2. Shame, Gratitude
3. Pride, Anger

4. Gratitude , Joy

Question Number : 29 Question Id : 36496349155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 36496349156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While teaching a new concept in middle grades, a teacher should :

Options :

1. ensure that the concept is absolutely alien to students.

2. relate what students already know with the new concept.

3. give ready-made notes to students and ask them to memorise.

4. ensure that students do not share their socio-cultural knowledge in the discussion about concept.

Question Number : 30 Question Id : 36496349156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Social Studies or Social Science

Section Id : 3649631580
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60

Number of Questions to be attempted : 60

Section Marks : 60

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 3649632856
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 36496349157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Harappans belonged to the

Options :

1. Bronze Age

2. Copper Age

3. Brass Age

4. Iron Age

Question Number : 31 Question Id : 36496349157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 36496349158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the following statements A and B and choose the correct option.

(A) : Historians do see time just as a passing of hours, days or years



(B) : Time reflect changes in social and economic organization.

Options :

1. Both ( A ) and (B) are true and (B) is the correct explanation of (A)

2. Both ( A ) and (B) are true and (B) is not the correct explanation of (A)
3. (A) true, but (B) is false

4. (A) Is false, but (B) is true

Question Number : 32 Question Id : 36496349158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 36496349159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Kitab al —Hind' was written by

Options :

1. Al -Idrisi

2. Al -Biruni

3. Al -Zaruni

4. Al-Dubhail

Question Number : 33 Question Id : 36496349159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 36496349160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The sharing of architectural styles amongst different regions between the eighth and eighteenth centuries was because



Options :

1. the creation of large empires brought different regions together resulting in cross —fertilization of forms and styles.
2. the need to synchronize led to duplication of majestic creations of the powerful empire.

3. the emperors wanted to spread their architectural legacy across regions to mark supremacy.

4. smaller kingdoms wanted to show their loyalty and copied the architectural style of the bigger empire.

Question Number : 34 Question Id : 36496349160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 36496349161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the statements A and B and choose the correct option.

A: About 2000 years ago, there was a famous physician named Charaka. He stated that human body has 360 bones

B: Charaka arrived at this figure by counting the teeth, joints and cartilages
Options :

1. Both A and B are true

2. Both A and B are false

3. Ais true and B is false

4. B is true and A is false

Question Number : 35 Question Id : 36496349161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 36496349162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Match the following:

Dance form State
a. Kathak i. Andhra Pradesh
h. Bharatanatvam ii. Tamil Nadu
c. Kathakali iii. Uttar Pradesh
d. Kuchioudi iv. Kerala
Options :

1. a-iii, b-i, c-ii, d-iv
2. a-iii, b-ii, c-iv, d-1
3. a-iii, b-1v, c-1, d-ii
4. a-ii, b-i, c-ii, d-iv

Question Number : 36 Question Id : 36496349162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 36496349163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct order (Starting from earliest revolt) of communities revolted against the rule?

Options :

1. Santhals, Kols, Bastar, Warli

2. Kols, Santhals, Bastar, Warli

3. Santhals, Bastar, Kols, Warli

4. Kols, Santhals, Warli , Bastar

Question Number : 37 Question Id : 36496349163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 36496349164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the following statements about tribals in India and choose the correct option.

(A) Tribal chiefs lost much of their administrative powers during colonial time.
(B) Tribal chiefs were allowed to keep their land titles over cluster of villages.

(C) Tribal chiefs enjoyed their traditional authority among their people.
Options :

1. Both (A) and ( B) are true

2. Both (B) and ( C) are true

3. Both (A) and ( C) are true

4. All (A), ( B) and (C) are true

Question Number : 38 Question Id : 36496349164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 36496349165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the following statements on women and reform and choose the correct option.

Statement A: The knowledge of ancient texts helped reformers promote new laws during British rule.

Statement B: The reformers discarded ancient texts in order to go in for reforms in social practices.



Options :

1. A is true but B is false
2. A is false but B is true
3. Both A and B are true

4. Both A and B are false

Question Number : 39 Question Id : 36496349165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 36496349166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Periyar led the Non-Brahman movement in Tamil Nadu. It posed several challenges to the caste system.

Consider the following statements and choose the correct option.

Options :

1. He started the temple-entry movement.

2. He gave the slogan ‘Ore jati, ore madam, ore devam manushyan’ (Human has one caste, one religion, one God).
3. He started the Self-Respect movement.

4. He established the Ved Samaj in Madras in 1864.

Question Number : 40 Question Id : 36496349166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 36496349167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Jyotirao Phule criticized caste inequality by

Options :

1. reading and quoting religious texts to refute caste system

2. arguing that Aryans were foreigners and subjugated the local population to introduce caste system
3. relying on scientific claims of biological similarity of all humans

4. getting influenced by Bhakti and Sufi Movements of previous centuries.

Question Number : 41 Question Id : 36496349167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 36496349168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mahatma Gandhi called for which campaign against Jallianwala Bagh massacre?

Options :

1. Rowlett Satyagraha

2. Non-Cooperation Movement

3. Khilafat Movement

4. Civil Disobedience Movement

Question Number : 42 Question Id : 36496349168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 36496349169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If you had to use Moderate Methods in present times to voice your dissent against any authority, which of the following would be the
correct method to apply?

A. use of force



B. demonstrations
C. writing articles

Choose the correct option.
Options :

1.Aand B

2.Aand C

3.Band C

4. A,Band C

Question Number : 43 Question Id : 36496349169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 36496349170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

English continued to be used in India after independence because

Options :

1. this was a condition given by the British Viceroy before leaving.

2. it would help in smooth transactions of administration from colonial to independent India.

3. there was demand from non-Hindu speaking states for a language that was understood by them.

4. the Indian government wanted to control the demands for creation of linguistic states.

Question Number : 44 Question Id : 36496349170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 36496349171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the statements A and B on stars and select the correct answer.

Statement A: The sun is a star.

Statement B : Countless twinkling stars in the night sky are similar to the sun.
Options :

1. A is true but B is false

2. A is false but B is true

3. Both A and B are true

4. Both A and B are false

Question Number : 45 Question Id : 36496349171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 36496349172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following structures connects the continent of North America to the continent of South America?

Options :

1. Mountain Range

2. Isthmus

3. Canal

4. Strait

Question Number : 46 Question Id : 36496349172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 36496349173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Identify the type of forest on the basis of features A, B and C listed below.

(A) These forests are also called monsoon forests.
(B) Important trees of these forests are sal, teak, peepal, neem and shisham.

(C) They are found in Madhya Pradesh, Uttar Pradesh, Bihar, Jharkhand, Chhattisgarh, Orissa and in parts of Maharashtra.
Options :

1. Tropical deciduous forest

2. Tropical Rain forest

3. Mangrove forest

4. Mountain forest

Question Number : 47 Question Id : 36496349173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T4 Tfterg =eawTt A, B 110 C % 19K T a9 % TR i U= I

A. 3 1 T AHEAT 37 o e S 2

B. 3 o s eyt g e, e, e, ey v oo

C. ¥ HeAmeeT, IO, fow, SeE, TeeTs, SIS T FeRTg % Fe1 9 H T, S o
Options :

| I FHeEETT uAEg 3
, IO HIEEAT o 5
; FE

4, TEAE T

Question Number : 48 Question Id : 36496349174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The type and thickness of natural vegetation varies from place to place because of the variation in which of the following factors?

(a) Temperature and moisture
(b) Latitude and altitude
(c) Slope and thickness of soil

(d) Direction of wind blowing

Choose the appropriate option.
Options :

1. (a) and (¢ )only

2. (c) and (d )only

3. (a), (b) and (c )only



4. (a), (b) and (d )only

Question Number : 48 Question Id : 36496349174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 36496349175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rhine Valley and Vosges Mountains are example of :

Options :

1. Block Mountains

2. Fold Mountains

3. Volcanic Mountains

4. Glaciers

Question Number : 49 Question Id : 36496349175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 36496349176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a desert?

Options :

1. Sunderban



2. Eastern Ghats
3. Ladakh
4. Sahyadri

Question Number : 50 Question Id : 36496349176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 36496349177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following statement / statements explain the cause for less variation in temperature over the sea.

(A) Presence of ocean currents maintain a constant temperature.
(B) Most of the seas are located near the poles.
(C) Sea water gets heated slowly and loses heat slowly.

(D) Presence of high atmospheric pressure contributes to less variation of temperature.
Options :

1. Only ( A) is correct

2. Only (B) is correct

3. Only (C) is correct

4. Both ( C) and (D) are correct

Question Number : 51 Question Id : 36496349177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 36496349178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Identify the layer of the atmosphere on the basis of the given statements.

A: The layer is almost free from clouds and associated weather phenomenon

B: It contains a layer of ozone gas.
Options :

1. Thermosphere

2. Mesosphere

3. Troposphere

4. Stratosphere

Question Number : 52 Question Id : 36496349178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 36496349179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the following statements and choose the correct option.

(A) — Human beings cannot survive if there is no air and air pressure in the atmosphere.

(B) - Air presses us with a great force on our body similarly our body exerts a counter pressure.
Options :

1. Both (A) and (B) are true and (B) is the correct explanation of (A.)

2. Both (A) and (B) are true and (B) is not the correct explanation of (A).

3. (A) is true and (B) is false.

4. (A) is false and (B) is true.

Question Number : 53 Question Id : 36496349179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 36496349180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the following and choose the correct sentence / sentences about the means of transport.

(A) Roadways are most commonly used means of transport especially for short distances.
(B) Waterways are the cheapest for carrying heavy and bulky goods over long distance.
(C) Railways are extremely useful in reaching inaccessible and difficult terrains

(D) Airways are most expensive and only mode to reach the most remote and distant areas.
Options :

1. Only ( A) and (B) are correct

2. Only (C) and (D) are correct

3. Only (A), (B) and (C) are correct

4. Only ( A), (B) and (D) are correct

Question Number : 54 Question Id : 36496349180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 36496349181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
While teaching about migration is her class which of the following factors could be considered as relevant by the teacher?

(A) Availability of work opportunities
(B) Improving standards of living
(C) Marriage

Choose the correct option.
Options :

1. Only (A) and (B)

2. Only (B) and (C)

3. Only (A) and (C)

4. All (A), (B) and (C)

Question Number : 55 Question Id : 36496349181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 36496349182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is odd in reference to steel producing centres in India?

Options :

1. Aligarh — Uttar Pradesh

2. Vijay Nagar — Karnataka

3. Vishakhapatnam - Andhra Pradesh

4. Salem — Tamilnadu

Question Number : 56 Question Id : 36496349182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 36496349183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the statements and select the correct answer from the options below.

Statement A : Sericulture is breeding of fish in specially constructed tanks and ponds

Statement B : Pisciculture is commercial rearing of silk worms

Options :

1. A is true but B is false
2. A is false but B is true
3. Both A and B are true
4. Both A and B are false

Question Number : 57 Question Id : 36496349183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 36496349184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The sheep of which region of India produce pashmina wool?

Options :

1. Ladakh

2. Pulwama

3. Poonch

4. Anantnag

Question Number : 58 Question Id : 36496349184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 36496349185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

There are different ways in which people of different communities greet each other. This is a mark of :

Options :

1. socialism

2. secularism

3. diversity

4. social justice

Question Number : 59 Question Id : 36496349185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 36496349186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the following statements and choose the correct option.

Statement A : The head of the state is the Governor.

Statement B : The Governor is appointed by the state government to ensure that the particular state works in accordance with the
Constitution.

Options :

1. A is correct and B is incorrect
2. A is incorrect and B is correct
3. Both A and B are correct

4. Both A and B are incorrect

Question Number : 60 Question Id : 36496349186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 36496349187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Preeti’s family owns 15 acres of fertile land. Her father borrowed one lakh rupees from a government bank. However, untimely rains
flooded the fields and the entire harvest was damaged. Preeti is relieved that they have grains for next few months. She is most likely
belonging to a family of :

Options :

1. Agricultural workers
2. Small farmers

3. Large famers

4. Small shopkeepers

Question Number : 61 Question Id : 36496349187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 36496349188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Hindu Succession Amendment Act 2005 provides for which of the following?

Options :

1. The choice of not adopting the family surname.

2. Equal share in father’s property to sons and daughters.



3. Women’s right to invalidate marital status under the Hindu Marriage Act .
4. Hereditary rights of sons to agricultural property.

Question Number : 62 Question Id : 36496349188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 36496349189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is true about weavers’ cooperative ?

A) Help reduce dependence on merchants and bring higher income for the weavers.
B) Indirectly provides support to large companies.

C) Member weavers work with putting out system.

D) Cooperatives are involved in marketing.

Choose the correct option.
Options :

1. A and B only

2. B and C only

3. Cand D only

4. A and D only

Question Number : 63 Question Id : 36496349189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 36496349190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In India, a democratic country, Universal Adult Franchise means:

Options :

1. every person is equal before law

2. providing free education to integrate children with disabilities in mainstream schools

3. women above 18 years of age has the right to vote

4. every individual above 18 years of age has the right to vote irrespective of their social and economic backgrounds.

Question Number : 64 Question Id : 36496349190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 36496349191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Boys and girls are socialized to choose certain subjects for their higher education not because she/he has an aptitude for it, but because
they are internalized and meant to select specific disciplines as per their gender. This can be seen as a form of :

Options :

1. discrimination

2. violation

3. stereotype

4. sexual harassment

Question Number : 65 Question Id : 36496349191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 36496349192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the following Child Rights as mentioned in the Children’s Bill of Rights —

A) T have the Right to a good education , and everyone has the Responsibility to encourage all children to go to school. (Article 28, 19, 23)

B) I have the Right to express my views freely which should be taken seriously, and everyone has the responsibility to listen to others.
(Article 12, 13)

Which of the following Articles of the Indian Constitution are complimentary to the above Child Rights?
Options :

1. Article 21 and 19

2. Article 14 and 16

3. Article 51 and 78

4. Article 32 and 44

Question Number : 66 Question Id : 36496349192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 36496349193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following features of the Indian Constitution protect citizens against arbitrary and absolute exercise of power by the state?
Options :

1. Federalism

2. Fundamental Rights

3. Separation of Powers between legislature, executive and the judiciary

4. Parliamentary form of government



Question Number : 67 Question Id : 36496349193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 36496349194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Judiciary has the power to strike down particular laws passed by the Parliament if it believes that they violate the structure of the
Constitution. This is called:

Options :

1. Dispute resolution

2. Judicial Review

3. Upholding Law and enforcing Fundamental Rights
4. Independent Judiciary

Question Number : 68 Question Id : 36496349194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 36496349195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is correct about Rights of Persons with Disabilities Act, 2016?

Options :

1. The government encourages education of disabled children in special schools.

2. Persons with disabilities have equal rights for their full participation in the society.

3. The Union government has to allot 10% seats in its educational institutions for persons with disabilities.

4. Only the central government offices and institutions to be made accessible and facilitated with ramps.

Question Number : 69 Question Id : 36496349195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 36496349196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an accurate description of the Bhopal Gas Tragedy of 1984?

Options :

1. Explosion in the Compressed Natural Gas (CNG) plant.

2. Blast in the store house of Liquefied Petroleum Gas (LPG) cylinder.

3. Production of a poisonous gas to kill rats in the local area spreading disease.

4. Leakage of a poisonous gas from a pesticide production plant.

Question Number : 70 Question Id : 36496349196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 36496349197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What portion of history is to be studied at the particular level depend upon :

Options :

1. scope of history

2. nature of history

3. aims and objectives of history

4. values of teaching history

Question Number : 71 Question Id : 36496349197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 36496349198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
According to NCF 2005, The primary objective of teaching social sciences at secondary stage is to

A. assist students to explore their interests and aptitudes in order to choose appropriate university course and /or courses

B. develop an understanding about social and economic challenges faced by the nation

C. develop skills of observation, identification and classification

D. develop a holistic understanding of the environment with emphasis on the institutions of the natural and the social environment.

Which of the above statements are true?
Options :

1.Only A and B

2.0nly B and C

3.Only C and D

4. Only B and D

Question Number : 72 Question Id : 36496349198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 36496349199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



While initiating students into mapping skills you would begin by:
Options :

1. introducing a map of India

2. asking students to make a map of classroom

3. instructing students to trace an outline of a map

4. engaging students with directions, scale and symbol

Question Number : 73 Question Id : 36496349199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 36496349200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While teaching the concept of water, a teacher tells a story about a girl who uses different ways to save water at her home. What strategy is
the teacher using here?

Options :

1. Narrative approach

2. Observation approach

3. Problem-solving approach
4. Discussion

Question Number : 74 Question Id : 36496349200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 36496349201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following descriptions (attitudes and values) suggest that students have understood the concept of ‘diversity’?
Options :

1. Shows respect towards national symbols and movements.



2. Show knowledge about different clothing styles of our country.
3. Display awareness about different language spoken in our country.
4. Display attitudes of appreciation and respect for people of different religion, communities, occupations and languages.

Question Number : 75 Question Id : 36496349201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 36496349202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The use of documentaries is useful in teaching of social science as

Options :

1. it gives first hand account of an event

2. it reduces load of curriculum

3. it portrays social science as a scientific discipline

4. it serves entertainment purpose

Question Number : 76 Question Id : 36496349202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 36496349203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

By providing opportunities as well as the necessary resources to enable students to experiment, explore and analyse for themselves, a
teacher is using the following approach —

Options :

1. Textbook- centered approach

2. Social — constructivist approach
3. Teacher — centered approach

4. Behaviourist approach



Question Number : 77 Question Id : 36496349203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 36496349204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the following statements:-

A. NCERT social science textbooks use several narratives, both fictional and non-fictional.

B. Narratives enable learners to understand ideas and institutions and encourage introspection
Options :

1. A and B are correct, B explains A

2. A and B are correct, B does not explains A

3. A is correct, B is incorrect

4. A is incorrect, B is correct.

Question Number : 78 Question Id : 36496349204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 36496349205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The following questions are generally asked in social science classes. Choose the question which provides a greater scope for developing
critical thinking?
Options :



1. What is the name of the producer of the movie Raja Harichandra?
2. When did the Bombay film industry make its first appearance?

3. Describe the nature of Bombay films.

4. Why were a number of Bombay films about the lives of migrants?

Question Number : 79 Question Id : 36496349205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Trferfae wer wraTtsTer e o7 et & ST U S £ 39 T 6 =9 S S S e e %
T = foTm T &7 Sueteey T 29
Options :

| Tt e & e s A 2
, TS (e T Fa TR a1 A ST
X a7 o1 ToReT ST aRfe T Ui it

) TS T A5 W (e FaTe o Sad & o o 4 41

Question Number : 80 Question Id : 36496349206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the given question and choose the correct option.

“Are the existing legal safeguards enough to ensure social equality of women"?

The above question expects you to :

Options :

1. describe the legal safeguards available for women and its history.

2. explain what is social equality and give examples.

3. analyse legal safeguards and justify them .

4. examine the reach and limitations of the legal safeguards in attaining equality.

Question Number : 80 Question Id : 36496349206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 36496349207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If you have to follow an inductive approach for social science knowledge acquisition, you would :

Options :

1. Find commonalities between different examples and arrive at general principles .

2. Integrate teaching learning activities of different grades.

3. Solve a problem using a general principle.

4. Given freedom to the child to construct her own knowledge.

Question Number : 81 Question Id : 36496349207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 36496349208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Statement A : Social science teaching has long been seen as a means of inculcating ideologies or value system.

Statement B : This focus has proven beneficial for pedagogy of social science.

Choose the correct option.
Options :

1. A is true but B is false
2. Both A and B are true
3. A is false but B is true
4. Both A and B are false

Question Number : 82 Question Id : 36496349208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 36496349209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While teaching history, a teacher must focus on

Options :

1. historical informality

2. correct response

3. content coverage

4. source analysis

Question Number : 83 Question Id : 36496349209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3hET sreaTes e w e fag w S S e

Options :
35;‘1% o HAATcHhdl
1. ™

, ST TR

3 RICREL RN

, AR

Question Number : 84 Question Id : 36496349210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
We generally use secondary sources for the following purposes.

A. Make new discoveries.

B. Gain background information on the topic.

C. Provide credible evidence for arguments.

D. Gather information that you cannot access directly.

Choose the appropriate option.
Options :

l1.Aand B

2.Aand C

3.Band C

4.Band D

Question Number : 84 Question Id : 36496349210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 36496349211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Project work is given in social science course mainly to

Options :

1. provide opportunities to students to utilize their time judiciously
2. ensure that syllabus is competed

3. develop student’s listing and reading skills

4. connect learning at school with social realities

Question Number : 85 Question Id : 36496349211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 36496349212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following are features of formative assessment?

A) Diagnostic and remedial
B) Offers opportunity to improve work after feedback
C) Assessment of learning

D) Done at the end of semester



Choose the correct option.
Options :

1. Aand B

2.A,Band C

3.A,Cand D

4. Aand C

Question Number : 86 Question Id : 36496349212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 36496349213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following arrangements reflects the correct order of revised Bloom Taxonomy of cognitive process?

Options :

1. Remember, Understand, Apply, Analyse, Evaluate, Create

2. Remember, Design, Apply, Create, Evaluate, Analyse,

3. Remember, Understand, Analyse, Apply, Evaluate, Create

4. Remember, Create, Understand, Analyse, Evaluate, Apply

Question Number : 87 Question Id : 36496349213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Teferfigs = & HI-5ft SaauT ST THaTeT T o7 aviish 3 STTHR §el 57 i auidt 82

Options :

1 T, ST, ST, e, gt 3 et

s T, ST, T, S, g & i

) =Ty, T, araramer, fosdwn, qeate ot o va



Question Number : 88 Question Id : 36496349214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following techniques is best suited for knowing the awareness and perspectives of students on contemporary events?
Options :

1. Debate

2. Dramatization

3. Story writing

4. Quiz

Question Number : 88 Question Id : 36496349214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS WIS (9T Sl T J, TSR 52T 3 &= Ut 3 Tid ST shl FTTaT 31 SATheT i 3 (o0 (e

TR TeR HT TR AT ST
Options :

|, TTE-faame

2, T

5 T G

. T

Question Number : 89 Question Id : 36496349215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Evaluation provides opportunity for teachers to know the following about their lessons.

A. What they learn
B. How they learn
C. What their interests are
D. What they did not learn

Choose the correct option.
Options :

1.Aand D

2.A,Band D

3.A,Cand D

4.Band D

Question Number : 89 Question Id : 36496349215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 36496349216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher has planned an assessment strategy that will help her to identify the problem areas of students in the learning process. The
teacher is using which of the following methods of evaluation?

1. Diagnostic assessment
2. Summative assessment
3. Formative assessment
4. Placement assessment

Choose the correct option.
Options :

1. A and B only

2.Band C only

3. A and C only

4. Cand D only

Question Number : 90 Question Id : 36496349216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Language I
Section Id : 3649631581
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 3649632857
Question Shuffling Allowed : Yes

Question Id : 36496349217 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (91 to 99)

Question Label : Comprehension
Read the passage given below and answer the questions complete
the statements that follow by choosing the correct options from the
given ones.

1. India experienced a 15% drop in fresh Covid — 19 cases
detected in the week ending Sunday, the lowest weekly count
in more than six months with Kerala numbers declining by a
steep 21%. The country reported over 2.14 lakh new cases in
the week (September 13-19), down from 2.51 lakh in the
previous seven days. This was the lowest numbers of cases
reported in 27 weeks since March 8-14 (for weeks ending
Sunday).

2. The sharp fall in all India infections was mainly due to numbers
dropping in Kerala, which still accounts for 62% of all cases in
the country during this week. Two weeks earlier, Kerala’s
weekly case count had crossed 2 lakhs, as the latest wave of
the pandemic in the state peaked: cases continued to decline
in Maharashtra while Mizoram and Tamil Nadu registered a
rise in infections during the week.

3. Meanwhile, on Sunday, India reported 30,814 fresh cases,
nearly the same as the number on the previous day (31,242)
as Kerala logged 19,653 new infections. The state had
recorded 139,352 cases the previous day.

4, There were 295 deaths from the virus with Kerala reporting
152 fatalities, Maharashtra 49, Tamil Nadu 27, Karnataka 16
and Bengal 11.



Sub questions

Question Number : 91 Question Id : 36496349218 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

(&) March 8-14 had more than 2.51 lakh count cases.

(R) This was the lowest weekly count in more than six

months.

Pick the correct option from the following

1). Both A and R are true but R is not the correct
explanation of A.

2). Both A and R are true but R is the correct explanation of
A,

3) Ais true but R is false

4) Both A and R are true

Options :

1.1

2.2

3.3

4.4

Question Number : 92 Question Id : 36496349219 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Choose the correct option from the alternatives given
below.
The maximum number of deaths were recently recorded in:
1) Kerala
2) Maharashtra
3) Mizoram
A} Tamil Nadu
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496349220 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Study the following statements

(&) There has been a sharp decline in Covid cases in Kerala.
(B} This resulted in a sharp decrease in cases of infection in
India.

1) Ais true but B is false.
2) Alsfalse but Bis true.
3) Both A and B are true but A has no effect on B.
4} Both A and B are true and B is a direct result of A,
Options :
1.1
2.2
3.3
4.4



Question Number : 94 Question Id : 36496349221 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Choose the correct option from the alternatives given

below :-

By September 13-14 the Covid pandemic was on a decline.

Which of the following paragraphs supports this statement?

1) Paragraph 1
2) Paragraph 2
3) Paragraph 3
4) Paragraph 4

Options :

1.1

2.2

3.3

4.4

Question Number : 95 Question Id : 36496349222 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Put the following in the decreasing order with reference to

the 295 deaths caused due to the Covid pandemic.

Choose the correct option from those given below.

1) Tamil Nadu, Maharashtra, Bengal, Karnataka
2) Karnataka, Bengal, Tamil Nadu, Maharashtra
3) Maharashtra, Tamil Nadu, Karnataka, Bengal
4} Bengal, Karnataka, Tamil Madu, Maharashtra

Options :

1.1

2.2

3.3

4.4

Question Number : 96 Question Id : 36496349223 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What does “weekly count’ in para 1 stand for?

1) no of deaths caused by the pandemic Covid-19
2) no of deaths due to road accidents
3) pedestrian deaths
4) both (2) and (3)
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496349224 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following will come under the category —
pandemic?
Death caused globally due to.

1) an accident
2) war
3) some deadly virus
4) atiger
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 36496349225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The word ‘peaked’ in para 2 is used as a/an :

) adverb

2) adjective
} noun
4) verb

Options :

1.1

2.2

3.3

4.4

Question Number : 99 Question Id : 36496349226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The word ‘steep’ in para 1 means the same as

1) decrease
2) agradual decline
3) disappear
4] asharp fall
Options :
1.1
2.2
3.3
4.4

Question Id : 36496349217 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (91 to 99)
Question Label : Comprehension



Read the passage given below and answer the guestions complete
the statements that follow by choosing the correct options from the
given ones.

1. India experienced a 15% drop in fresh Covid — 19 cases
detected in the week ending Sunday, the lowest weekly count
in more than six months with Kerala numbers declining by a
steep 21%. The country reported over 2.14 lakh new cases in
the week (September 13-19), down from 2.51 lakh in the
previous seven days. This was the lowest numbers of cases
reported in 27 weeks since March 8-14 (for weeks ending
Sunday).

2. The sharp fallin all India infections was mainly due to numbers
dropping in Kerala, which still accounts for 62% of all cases in
the country during this week. Two weeks earlier, Kerala’s
weekly case count had crossed 2 lakhs, as the latest wave of
the pandemic in the state peaked; cases continued to decline
in Maharashtra while Mizoram and Tamil Nadu registered a
rise in infections during the week.

3. Meanwhile, on Sunday, India reported 30,814 fresh cases,
nearly the same as the number on the previous day (31,242)
as Kerala logged 19,653 new infections. The state had
recorded 19,352 cases the previous day.

4. There were 295 deaths from the virus with Kerala reporting
152 fatalities, Maharashtra 49, Tamil Nadu 27, Karnataka 16
and Bengal 11.

Sub questions

Question Number : 91 Question Id : 36496349218 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

(A) March 8-14 had more than 2.51 lakh count cases.

(R) This was the lowest weekly count in more than six

months.

Pick the correct option from the following

1). Both A and R are true but R is not the correct
explanation of A.

2). Both A and R are true but R is the correct explanation of
A,

3) Ais true but R is false

4) Both A and R are true

Options :

1.1

2.2

3.3

4.4

Question Number : 92 Question Id : 36496349219 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Choose the correct option from the alternatives given
below.

The maximum number of deaths were recently recorded in:
1) Kerala
2) Maharashtra

3) Mizoram

A} Tamil Nadu

Options :

1.1

2.2

3.3

4.4

Question Number : 93 Question Id : 36496349220 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Study the following statements

(&) There has been a sharp decline in Covid cases in Kerala.
(B) This resulted in a sharp decrease in cases of infection in
India.

1) Aistrue but B is false.
2) Alisfalse but B is true.
3} Both & and B are true but A has no effect on B.
4} Both & and B are true and B is a direct result of A,
Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 36496349221 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Choose the correct option from the alternatives given

below :-

By September 13-14 the Covid pandemic was on a decline.

Which of the following paragraphs supports this statement?

1) Paragraph 1
2) Paragraph 2
3) Paragraph 3
4) Paragraph 4

Options :

1.1

2.2

3.3

4.4

Question Number : 95 Question Id : 36496349222 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Put the following in the decreasing order with reference to
the 295 deaths caused due to the Covid pandemic.
Choose the correct option from those given below.

1) Tamil Nadu, Maharashtra, Bengal, Karnataka
2) Karnataka, Bengal, Tamil MNadu, Maharashitra
3) Maharashtra, Tamil Nadu, Karnataka, Bengal
4} Bengal, Karnataka, Tamil Nadu, Maharashtra

Options :

1.1

2.2

3.3

4.4

Question Number : 96 Question Id : 36496349223 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What does ‘weekly count’ in para 1 stand for?

1) no of deaths caused by the pandemic Covid-19
2) no of deaths due to road accidents
3) pedestrian deaths
4) both (2) and (3)
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496349224 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following will come under the category —

pandemic?

Death caused globally due to.

1) an accident
2) war
3} some deadly virus
4) atiger
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 36496349225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The word ‘peaked’ in para 2 is used as afan :

1) adverb
2) adjective
3) noun
4} verb
Options :
1.1



2.2
3.3
4.4

Question Number : 99 Question Id : 36496349226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The word ‘steep’ in para 1 means the same as

1) decrease
2) agradual decline
3) disappear
4] asharpfall
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 3649632858
Question Shuffling Allowed : Yes

Question Id : 36496349227 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)

Question Label : Comprehension
Read the extract given below and answer the questions that follow by
selecting the correct/most appropriate options:

From the neighbouring school come the boys,
And down the wet streets

Sail the mimic fleets,

Till the treacherous pool

Engulfs them in its whirling and turbulent ocean.
In the country, on every side,

Where far and wide,

Like a leopard’s tawny and spotted hide,
Stretches the plain,

How welcome the plain,

How welcome is the rain!
Sub questions

Question Number : 100 Question Id : 36496349228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What does the phrase ‘mimic fleets’ mean in the poem?

. Small boats

. Miniature ships
. Paper boats

. Naval ships

IS SV NS

Options :
1.1
2.2
3.3
4.4



Question Number : 101 Question Id : 36496349229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The pool is called treacherous as :
a) it ruins the fun of young boys.
b) the pool is very swirly.
c) it is as huge as ocean.
d) mimic fleets do not cross the pool.

1. aandb are correct and not ¢
2. bandcarecorrectand notd
3. canda are correct and not b
4, aanddare correct and notc

Options :

1.1

2.2

3.3

4.4

Question Number : 102 Question Id : 36496349230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Choose the correct option.

1) The pool flows into an ccean.
2) The ocean is calm and peaceful.
3) The rain is compared to a Leopard’s spotted hide.
4) The school is in an oasis.
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 36496349231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the poem phrase ‘lecpard’s tawny and spotted hide’

means

1. The dry and dead condition of the vegetation around.
2. A contrast between the dry and rejuvenated state of
nature.

3. A perfect image of the rainy season.

4. A skilful use of nature imagery

Options :

1.1

2.2

3.3

4.4

Question Number : 104 Question Id : 36496349232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



|dentify and name the literary device used in, ‘il the
treacherous pool’

Alliteration
Metaphor
Personification
Simile

Options :

1.1

2.2

3.3

4.4

BwNEe

Question Number : 105 Question Id : 36496349233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following words is opposite in meaning to the

word ‘Engulfs’ as used in the poem?

1. Immersed
2. Drowned
3. Unconfined
4, Swallowed

Options :

1.1

2.2

3.3

4.4

Question Id : 36496349227 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)

Question Label : Comprehension
Read the extract given below and answer the questions that follow by
selecting the correct/most appropriate options:

From the neighbouring school come the baoys,
And down the wet streets

Sail the mimic fleets,

Till the treacherous pool

Engulfs them in its whirling and turbulent ocean.
In the country, on every side,

Where far and wide,

Like a leopard’s tawny and spotted hide,
Stretches the plain,

How welcome the plain,

How welcome is the rain!
Sub questions

Question Number : 100 Question Id : 36496349228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What does the phrase ‘mimic fleets’ mean in the poem?

1. Small boats

2. Miniature ships
3. Paper boats

4, Naval ships
Options :

1.1

2.2

3.3

4.4

Question Number : 101 Question Id : 36496349229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The pool is called treacherous as :
a) it ruins the fun of young boys.
b) the pool is very swirly.
c)itis as huge as ocean.
d) mimic fleets do not cross the pool.

1. aandb are correct and not ¢
2. bandcarecorrectand notd
3. canda are correct and not b
4. aandd are correct and not ¢

Options :

1.1

2.2

3.3

4.4

Question Number : 102 Question Id : 36496349230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Choose the correct option.

1) The pool flows into an ocean.
2) The ocean is calm and peaceful.
3} The rain is compared to a Leopard’s spotted hide.
4) The school is in an oasis.
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 36496349231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the poem phrase ‘lecpard’s tawny and spotted hide’

means

1. The dry and dead condition of the vegetation around.
2. & contrast between the dry and rejuvenated state of
nature.

3. A perfect image of the rainy season.

4, A skilful use of nature imagery



Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496349232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|dentify and name the literary device used in, ‘till the

treacherous pool’

Alliteration
Metaphor
Personification
Simile

Options :

1.1

2.2

3.3

4.4

B wWNEe

Question Number : 105 Question Id : 36496349233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following words is opposite in meaning to the

word ‘Engulfs’ as used in the poem?

1. Immersed
2. Drowned
3. Unconfined
4. Swallowed
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 3649632859
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 36496349234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What does ‘interaction hypothesis’ mean in the language learning?
1. Learners’ interaction should be after the inputs have been fully received to learn a second or foreign language.

2. Communicational environment takes place through interactions for language learning.

3. Learners do not interact based on the inputs of a second or foreign language.

4. Learners need to interact based on the inputs in order to learn a second or foreign language.
Options :
1.1
2.2
3.3
4.4



Question Number : 106 Question Id : 36496349234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What does ‘interaction hypothesis’ mean in the language learning?
1. Learners’ interaction should be after the inputs have been fully received to learn a second or foreign language.
2. Communicational environment takes place through interactions for language learning.
3. Learners do not interact based on the inputs of a second or foreign language.

4, Learners need to interact based on the inputs in order to learn a second or foreign language.
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 36496349235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What does ‘multilingualism as a resource’ mean?

1. Making use of the learners’ language for teaching language.

2. Using the languages of the learners as methods of teaching for science and languages.
3. Making use of the learners’ family languages in the classroom.

4, Using texts, ideas, practices and cultural aspects of language of learners in the classroom.
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 36496349235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What does ‘multilingualism as a resource’ mean?
1. Making use of the learners’ language for teaching language.

2. Using the languages of the learners as methods of teaching for science and languages.

(%]

Making use of the learners’ family languages in the classroom.

4, Using texts, ideas, practices and cultural aspects of language of learners in the classroom.
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 36496349236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Learners can reach levels of achievement which they would be unable to reach independently with support from others.

This assumption in language learning is known as

1. Input hypothesis

2. Output hypothesis

(%]

Interaction hypothesis
4. Scaffolding hypothesis

Options :

1.1

2.2

3.3

4.4

Question Number : 108 Question Id : 36496349236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Learners can reach levels of achievement which they would be unable to reach independently with support from others.
This assumption in language learning is known as

1. Input hypothesis
2. Output hypothesis
Interaction hypothesis

L8]

4. Scaffolding hypothesis
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 36496349237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Megha bought an oven and she wanted to learn how to operate it. She began to read the instructions specifically to
know which button to operate and reading the instructions to operate the oven. This sub-skill of reading is known as

1. Scanning
2. Predicting
3. Skimming
4. Comprehending
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 36496349237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Megha bought an oven and she wanted to learn how to operate it. She began 1o read the instructions specifically to
know which button to operate and reading the instructions to operate the oven. This sub-skill of reading is known as

1. Scanning
2. Predicting
3. Skimming
4. Comprehending
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 36496349238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher conducts a dictation in her class with five sentences. She dictates five sentences two times and asks her
learners to write the sentences exactly as dictated. What listening strategy does the teacher here aims at assessing?
1. Top-down listening process
2. Bottom-up listening process

3. Predicting listening process

4, Accuracy and fluency processes
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 36496349238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher conducts a dictation in her class with five sentences. She dictates five sentences two times and asks her
learners to write the sentences exactly as dictated. What listening strategy does the teacher here aims at assessing?

1. Top-down listening process

2. Bottom-up listening process

(%)

Predicting listening process

4. Accuracy and fluency processes
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496349239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Here is a conversation between Rahul and Karuna. Read/ Listen to it carefully and say the purpose of the interaction.
Rahul: Hello! How are you? Where have you been? | could not see you for more than a week.
Person 2: Fine. | was out of the town. | visited by parents in my village. How are you? Karuna: How are your
parents?
Rahul: They are fine. Thank you. .

Informative purpose

2. Interactional purpose
3. Transactional purpose
4. Inter-personal communication
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496349239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Here is a conversation between Rahul and Karuna. Read/ Listen to it carefully and say the purpose of the interaction.
Rahul: Hello! How are you? Where have you been? | could not see you for more than a week.
Person 2: Fine. | was out of the town. | visited by parents in my village. How are you? Karuna: How are your
parents?
Rahul: They are fine. Thank you. .

Informative purpose

2. Interactional purpose
3. Transactional purpose
4, Inter-personal communication
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496349240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Farm oriented language inputs’ for language learning are
1. making meaning of the inputs
2. focusing on the information in inputs
3. purpose of the input for learning writing
4, pronunciation, use of vocabulary and grammar.
Options :
1.1
2.2

3.3
4.4

Question Number : 112 Question Id : 36496349240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



‘Form oriented language inputs’ for language learning are
1. making meaning of the inputs
2. focusing on the information in inputs
3. purpose of the input for learning writing
4, pronunciation, use of vocabulary and grammar,
Options :
1.1
2.2

3.3
4.4

Question Number : 113 Question Id : 36496349241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Words that we use in writing and speaking in the context of vocabulary are known as

1. Receptive vocabulary
2. Productive vocabulary
3. Words we recall when we hear or read.

4. Words we recognize as we read or listen to.
Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496349241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Words that we use in writing and speaking in the context of vocabulary are known as

1. Receptive vocabulary
2. Productive vocabulary
3. Words we recall when we hear or read.

4. Words we recognize as we read or listen to.
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 36496349242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Vocabulary acquisition takes place through internalizing the word chunks’ is advocated by
1. Communicative approach

2. Word webs

3. Lexical approach

4. Collocation
Options :
1.1
2.2
3.3



4.4

Question Number : 114 Question Id : 36496349242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Vocabulary acquisition takes place through internalizing the word chunks’ is advocated by
1. Communicative approach

2. Word webs

3. Lexical approach

4. Collocation
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496349243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Knowledge about the form, describing and apply it in limited practice is
1. Procedural knowledge
2. Communicative competence

Grammar in communication

[N

4. Declarative knowledge
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496349243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Knowledge about the form, describing and apply it in limited practice is
1. Procedural knowledge
2. Communicative competence

Grammar in communication

L8]

4. Declarative knowledge
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496349244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Alearner learns to write by undergoing the stages of jotiing down ideas, creating an outline, writing the first draft and
so on. What is this strategy of writing known as?
1. Product approach to writing
2. Process approach to writing
3. Scientific approach to writing
4. Creative way of writing
Options :
1.1
2.2

3.3
4.4

Question Number : 116 Question Id : 36496349244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Alearner learns to write by undergoing the stages of jotting down ideas, creating an outline, writing the first draft and
so on. What is this strategy of writing known as?
1. Product approach to writing
2. Process approach to writing
3. Scientific approach to writing
4, Creative way of writing
Options :
1.1
2.2

3.3
4.4

Question Number : 117 Question Id : 36496349245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A learner undertakes the learning of a language through deliberate means is
1. learning of a language
2. acquisition of a language
3. learning of a language system
4. acquisition of grammar
Options :
1.1
2.2

3.3
4.4

Question Number : 117 Question Id : 36496349245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A learner undertakes the learning of a language through deliberate meansis
1. learning of a language
2. acquisition of a language
3. learning of a language system
4. acquisition of grammar

Options :
1.1
2.2



3.3
4.4

Question Number : 118 Question Id : 36496349246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

All formative assessment is

1. assessment of learning

2. assessment while learning
3. assessment as learning
4

. assessment for learning
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496349246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

All formative assessment is
1. assessment of learning
2. assessment while learning
3. assessment as learning

4, assessment for learning
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496349247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher brings in many toys from her home and also asks her learners to bring objects from their home and uses
them in her teaching-learning situations. What are these known as?

1. Teaching aids

2. Realia
3. Toy Pedagogy
4. Object oriented learning
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496349247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A teacher brings in many toys from her home and also asks her learners to bring objects from their home and uses

them in her teaching-learning situations. What are these known as?
1. Teaching aids
2. Realia
3. Toy Pedagogy
4. Object oriented learning

Options :

1.1

2.2

3.3
4.4

Question Number : 120 Question Id : 36496349248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher of class VIl asks her learner to plan a trip to a nearby city. Learners have to plan from the beginning of booking
a bus, creating an itinerary and so on. This takes place in groups of five. Later the groups share and finalise the tour
programme. What is this piece of work called in language teaching-learning?

1. Language learning task

2. Class discussion for language learning

(%)

Group language generation
4, Brain storming

Options :

1.1

2.2

3.3

4.4

Question Number : 120 Question Id : 36496349248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher of class VIl asks her learner to plan a trip to a nearby city. Learners have to plan from the beginning of booking
a bus, creating an itinerary and so on. This takes place in groups of five. Later the groups share and finalise the tour
programme. What is this piece of work called in language teaching-learning?

Language learning task

1
2. Class discussion for language learning

(98]

Group language generation

4. Brain storming

Options :
1.1
2.2
3.3
4.4
Language 11
Section Id : 3649631582
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 17



Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 3649632860
Question Shuffling Allowed : Yes

Question Id : 36496349249 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension

ffeaferfae e it Uge I2 0 W4T o FeE 30T I T
ﬁmﬂﬁﬂ

=T TR THAGT W T 2, e aaferes we= e e &,
TATEA I B AT ST & & AT TS F 170, Tl T
T T 82 THTAT Teded Y & SaT S, Tepia & e i me,
FEL T T HEAT, SUTA 9, U8, S 3 T Sue e,
AT, Ul WTHTg, STME Feali o |1 §ie F W TRrIesehaT U
T I 0 T T 8 T A Stad J BiE-set
IYCTTATT TS TReTaT2Al sh TTTH 2ht TH=TaT ht e ol o1 &
TS ARETATeAl o 1D WTAT T 8 [T ST & 1o Sherar at
TR & DRSS! 31 347 279 2| T o I el T G
Fra= BRI G T T RIeTehdl T HHT &tar 2] Shaq 5 =fea
e foa it fohe TR ® o s 2 - W F S vee E -
HRRIHF 1T TRIIeTF| T § ThReaehdl Sia-1 277 ug medt
Y, SIS U5 TeTAT i T AT ST & SATE SR e
TE TETAT T A, 6 ST &, i e s

T STET ST i T sftae 5 I TE| W T
TE1 HefT FReAEaT W) e 2| e s it e ae
TET & Ua AT 2| JHICT 7Y i HHRIHF ST =11,
HFHIH T, TehIcHeh hTd Srel! ST0ATY| 37=0 TaTeed &1 78t
AT Sl 2

Sub questions

Question Number : 121 Question Id : 36496349250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

é‘@%%&lgﬂu =g | e W i war 22
1. SqeTedar

&Har

3. "®eAdr

4. TGl
Options :

(]



1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 36496349251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T T TEE W it AT B
1. TR
2. WHEETEEEAT
3. e
4. THEEIETFAT
Options :
1.1
2.2

3.3
4.4

Question Number : 123 Question Id : 36496349252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T o TR &1 Tae T2
1. 9919

. T
3. IqATeET
4. FHE

Options :

1.1

2.2

3.3
4.4

| ]

Question Number : 124 Question Id : 36496349253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T AT U T 8 — A 5T @ I8
=T=AT 2 To-

1. TR St fndtar s & T we=aT o e 2
. T T e e 2
3. T T ST SRl & B et 2
4, 3TTE T TIIT TR SR TEAT T ST I

FAT 2|
Options :
1.1
2.2
3.3
4.4

(o]

Question Number : 125 Question Id : 36496349254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TTRITST 3 STTEN =0 e F fou e wam o
|. TEEIEF T
2. AT
3. e S
4. EA-HEA

Options :

1.1

2.2

3.3

4.4

Question Number : 126 Question Id : 36496349255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T F A g A R 0
|, 1 T T = A A
2. T A2 AT % U Wl AT B
3. SE=IAT HE TR I O T 3T 2

4. FHEET e | T T ST o7 ST 2
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496349256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT I I AT ITeE TE
1. |1ar

=T

3. HRATcHSRAT

4. HHAdT
Options :
1.1
2.2
3.3
4.4

-

Question Number : 128 Question Id : 36496349257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. S

3. AEFHAAT
4. HTHIATET

Options :
1.1



2.2
3.3
4.4

Question Id : 36496349249 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension

Tfeaferiiaa TeneT 1 Uga 0o 0, W41 o Has Iugt I arel
ﬁlﬁqﬂﬁtf

=T TETEd T o it 2, o erfres me=r e e B,
TITET IAT 81 AT =0T T & (oA T o6 [T, JE=TalT
T T &7 TG Teqed ¥ F S ST, Thid o oo ot e,
FEET T TTH AT, UG &, U8, Sa 5 TH U,
TSI Ual T, 1S Feait o | T F 9T TRl U
e ST O 9 et 2 T 7 S H oot
ITASTATAT Uel FRATTAT ol TTH 3T TH~TaT T TEwT T 7G0T T
T FRETaTe! & UTS WRTAT TeaT 8| 6T ST & 1o Sohetar af
FHATAT & BILI-TST o7 4T 274 B TH=IAT o 57 el o7 E e
FrEw BRI T T TR RIeTahaT T e wear 3| shaw g =feq
e Tore ot o TR & Foren ST & - Wi R S vee B -
FFHAHF A1 ToRNIcH| T T FFRcHFAT [SIa=T 371ereh Tel TedT
BT, SUSATeHET UF THEAATT 1 SITH AT 3T B SATET SR a7
TE AT T S, JET ST 5, i T H S

¥ S8 Ty i T sfae 5 I Teear W R a2
TE=IAT FefT FReasaT W) et 2| e s w2 T ag
TATET & UE T[T 8] SHICI T 3l TR ST =1,
FERTICHh W=, TehIcHeh i Jel] 70| 3= TaTeed i T!
THATT Fil 2

Sub questions

Question Number : 121 Question Id : 36496349250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TG F STH =01 =T e o it e 22

L R s R



4.4

Question Number : 122 Question Id : 36496349251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
=, B
AT T HTT T e W frdfe e 2
1. AFcTar
2. HeRTcHhar
3. HTEA
4. AFNICHEAT
Options :
1.1
2.2

3.3
4.4

Question Number : 123 Question Id : 36496349252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e o TR &1 S i
1. 9919

. Ta=mmem
3. IqATeEET
4, T

Options :

1.1

2.2

3.3
4.4

(]

Question Number : 124 Question Id : 36496349253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T TR W R T U g @ O
=TEAT B -

|, TETEeT Y T Sfa § TR T O S 2
AT T A o et 2l
. TEAT T T S Aare § g e 2
. 3T 1 TANT TR FH T H AT I1E

FAT 2|
Options :
1.1
2.2
3.3
4.4

| ]

Ju L

Question Number : 125 Question Id : 36496349254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TTRITST 3 STTEN =0 e F fou e wam o
|. TEEIEF T
2. AT
3. e S
4. EA-HEA

Options :

1.1

2.2

3.3

4.4

Question Number : 126 Question Id : 36496349255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T F A g A R 0
|, 1 T T = A A
2. T A2 AT % U Wl AT B
3. SE=IAT HE TR I O T 3T 2

4. FHEET e | T T T o7 ST 2
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496349256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT I I AT ITeE TE
1. |1ar

=T

3. HRATcHSRAT

4. HHAdT
Options :
1.1
2.2
3.3
4.4

-

Question Number : 128 Question Id : 36496349257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. S

3. AEFHAAT
4. HTHIATET

Options :
1.1



2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 3649632861
Question Shuffling Allowed : Yes

Question Id : 36496349258 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension

fAder - FreateTRae TereT i UEE U U W4T F 9§ UG I
TFEAT TSI T 2, AT ST € S 8| TAAT Feied-a R ol
FSATETT Tl UR FH F 70 Tod Fieag &1 USar 2] 39T SiaT
Ik Feied F @ ST 8| IR G, IR I, T I Fied &
STYUT BT S & AT Fiod FF I U AR TS T AT
I 2, TECIE o TG § Fe| S ol ST TRT SR Fied h
ST FE Y G FHH H T &, T $75 20 7 1 g & 72|
T T $7oF Shofed o di-eh WY Bt o S AT e S e T S Uk
T 3 0| Fied % HI0T G RGeTal, HUAT T Digar A =
AT 8] =T T8 UG F B °7 S 99 5, T8 39 F1E 9E, AT,
T I Feied T T 2

Ficd i haraT o gt faereror &, |meror gfe o ot swew
TG ST 1 H T A% UG S 8 S0 U § e 39
T 1S AT HAT B IH Feied ¢ T AT TG 1 ek H e
¥ IEh U YR 2, I o o (oAU 8T FGT & A A0 39 g
ST 3T B W e o Tt F gt STeTaT 7 B a1 SHehT AR B
ER-s i

Sub questions

Question Number : 129 Question Id : 36496349259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“TrET ToTaT T 2, T 3041 21 s 2|7 J199 9 a7e99 2 -
1. YT 3 AT 9E BT 2
2. T FT U AT FHi 2T 2
3. aﬁaﬁﬁ@#?@mﬁﬁl
4. M FH  FHSTE U T 7 B
Options :
1.1

2.2
3.3



4.4

Question Number : 130 Question Id : 36496349260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FIET + FieA T FSTE § UTCH T 2 [hash! AR Hohd (AT & 7 FIsH{h WIS 5 I8 T % STF0 & —
. T, =, gt
3. 3feq, e, fafza

Options :
1.1
2.2
3.3
4.4

—

(]

Question Number : 131 Question Id : 36496349261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T HAATTER et & eI % SR W aa-
. e TR
2. g E
3. |TH
4. Afurtee
Options :
1.1
2.2

3.3
4.4

Question Number : 132 Question Id : 36496349262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IR VR R J——— I BT 2-
1. A=
2. 99
3. 93
4 vE
Options :
1.1
2.2

3.3
4.4

Question Number : 133 Question Id : 36496349263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



‘TR 768 ¥ IUTT B-

1. =%
2. 3
3.3
4. o=t

Options :

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 36496349264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ferersor =1 ugiT 2-
|. a7

HTT

3. aTgfEa

4. T
Options :
1.1
2.2
3.3
4.4

]

Question Number : 135 Question Id : 36496349265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T H FRed F ST B S | T e e #2
1. R % foAm e 2 g BT 2

. T THTEE 5 T o 5 e s

. FEAR T W TR ST T AT 2

4. R T 3 TR FE A 2

Options :
1.1
2.2
3.3
4.4

(]

LS

Question Id : 36496349258 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension



fader - Faferfiga T i uge U@ U T % He ¥ 0 I
THEAT [STaAT e B, AT 301 &1 i 8] THT Thoied-S 1 ot
FISTEAT 1 UK FH o FoT0 T Fieas, T USdl 8| ST Sia
I Feied I @l ST 8 ST G, SR ST, 9§ FeA &
YT BT ST & S Feied FF 376 U ACANha A8 T AHI
I 2, SEEAI o TG § ] ST ol ST TR S Fed
il eI 5% @S ol T, TSI, R, Fe, geft, v, 5
ST T ST I T F T &, T 36 S0 7 g & T
T TS S0 Fied § di-ah | GieT 2l S ar gt S e d o 9
T SIS V| Fieied o HIU Bl RGeraT, ST T BigaT S g
AT TR SR A S R R A, TR S w3, AR,
TE T FAA A TR

Fied T HIRAT Wi TET 18107 2, FTIROT 3T A a7 S6eT
TaI ST T HET q Uge St gl S0 7 e & e 39
T 5 IR A AT 1 IR Feied 8 T ATE TS o AT | g
H I UTH UETAT &, SH = o [T 7Y ST € 1 #7136 g
ST et B Wt o Tt § T STZeraT 7 81 a1 SUeH! SR B
= B |

Sub questions

Question Number : 129 Question Id : 36496349259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“THET TS T B, T SAT Bl FieA B aTeT W AT £ -
1. FYF R FE H HE BT 2
2. = T U AT ST BT 2
3. aﬁa@rﬁmagzaﬁ%
4. T A T HISATE U5 FIS A 7
Options :
1.1
2.2

3.3
4.4

Question Number : 130 Question Id : 36496349260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TGS FieA T FSTE § IO T 2 [hash! AR Hohd (64T & 7 WIsH{a WIS 5 I8 T % STF0 & —
. T, =i, gt
3. 3fzq, e, fafew

Options :
1.1
2.2
3.3
4.4

—

]

Question Number : 131 Question Id : 36496349261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tl FHEETTER =l 8 et % TR 0 -
|, ETE

2. g9 E

3. ¥

4. AfureeR
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 36496349262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

B R S0 R o —— T B 2
1. =<
2. o9
3. 997
4. U5
Options :
1.1
2.2

3.3
4.4

Question Number : 133 Question Id : 36496349263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT 3768 T ITET B-
. =%
2.3
3.3
4. =t
Options :
1.1

2.2



3.3
4.4

Question Number : 134 Question Id : 36496349264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

[ = z [
Taeteor 7 UTTE -

-

1. SAMET

HIETOT
3. yufr=a

4., 90
Options :
1.1
2.2
3.3
4.4

2

Question Number : 135 Question Id : 36496349265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T T H e F ST B S § T SR (et 7
|. e % fo7m e 2wt B 2
. A TETEE 5 e o 5 e S
. AR T W R ST T 3 2
4. FHAT 7 % ATEW & FE Al 2
Options :
1.1
2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3649632862
Question Shuffling Allowed : Yes

]

Tad

Question Number : 136 Question Id : 36496349266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WTST STTETH & ST HEsT § 397 91 27
1. TeTeTreia it SehT <179 o STTET ATETe T AT HTHT 6 ST 3
2. STUT ST F TG ST S o e
3. Tareqifel=t A1 ek WTOT &0 § 9T UL T HIST F HeA AT

4. TeTeqnielat =t 2 79T 3 SASEE TS FAT 99T 39 395 140 ST S
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 36496349266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



WTHT ST T ST fHasT § 397 a1ed 27
1. TeTeTria =it ST 2779 o TR ATENTe T AT HTNT 3 ST &
2. STt ST 3 TR ST T3 o e
3. ToTeqTieia =it Sek WTOT =0 O 9IS UL 3l WIS H St o]
4. ToTeTie= =l =2 ST 3 STTER TS T TU7 39 399 170 ST S
Options :
1.1
2.2

3.3
4.4

Question Number : 137 Question Id : 36496349267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TS TA] S T §TE ¥ UG T 7Y 2
|. FH= % fow fidert =1 g
2. UT3T WTHIHT I AT F A U
3. AT T & % o uee|
4. =14 gEm = foTw gem|
Options :
1.1
2.2

3.3
4.4

Question Number : 137 Question Id : 36496349267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TTEFE I TR G W U T 21 2
1. FEE o form et =1 e
2. UT3F WHUT I AT F e 9|
3. HEAT T A % o v

4. =79 TEW % fom e
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 36496349268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HTHT 2ATeTs & AT ufteream | 4 a5 2
. Treares & =7 5 ferenfoat &1 v & vt 99
. T 3 foqm syrrtaEt i e i T
3. o= 9 "Ed B, 3 a o T31es o whe|
4. Tarsariei=n =k 31 3299 %k To10 WTuT 3R S ST Irgan
Options :
1.1

—
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2.2
3.3
4.4

Question Number : 138 Question Id : 36496349268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WTST SR F ot ufteeEr & 1 T 20
. TeaTeT & = T et S ST 3 Ui w96
. =T % T vreTiaET i wmer i ww|
3. F=2 F9 WhEd &, F 9K ¥ foners i w9
4. Teretoat & grn 32vg 3 oA wmer & v o giEar
Options :
1.1
2.2

3.3
4.4

—

(=]

Question Number : 139 Question Id : 36496349269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T TR T U § U ST=0S SR T i a1 A G £ 6 T4 R S AT 39 SR 0 3
wﬁmwﬁ%ﬁmot%mﬁmwwmwmﬁamﬁmamﬁ%@m%%waﬁ
Wﬁnmﬂﬁ%@%% m%%va?a%wmﬁﬁ#

1. STETE o

2. FEETE wRAT

3. AT ST iR

4, FEF TR AT T

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 36496349269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T AT U ¥ U ST0S S (AT i St A G £ 6 UL S S G 39 SR 0 3
STTIE I AT (oG 3 o0 el 2| Rt il 36 AT 0 SIT=08 o ey 274 i forg 2 faerset ey
367 R TR e fevg B v % fow 7w i = e 2

1. ST afw

2. FEETE Ul

3. TTEAT AT Ui

4. FET TR TS AT

Options :
1.1
2.2
3.3
4.4




Question Number : 140 Question Id : 36496349270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o AT e S et O St oo 4 7, i A
. IEFEE ST WIS

. Taremeft e =51 = G FE

3. Taremeft g Ferer 7 wizea]

4. SATHIT o TR, ISRT T TANT, ITART AT(S|

Options :
1.1
2.2
3.3
4.4

—

]

Question Number : 140 Question Id : 36496349270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3 TR T S e W AR a9 3§, FE
. IgFE ST WTeTET

. Taremeft e = =T 9w B

3. faremeff g fAgrer <t wlzram)

4. TSIV 3 UE, ITEAT T W, AR S

Options :
1.1
2.2
3.3
4.4

—

| ]

Question Number : 141 Question Id : 36496349271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T FA T Ued 50 T VST i YRSl ¥, J% 39 Yea 1 ST Ser 31 R 8 T A 5 ure 2 3
ITeET il TorE =T T ST ST 27
1. TITET 168 HU=T|
. SeITES TTe% TUET|
3. g2 3762 T2 B9 =iE o1 3= ¥ T9 3 2
4, HTH ST T e & fom wres wwa

Options :
1.1
2.2
3.3
4.4

| ]

Question Number : 141 Question Id : 36496349271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T T 7T UG 20 T YI5A 1 TR 2, T I Y631 1 70 arer A fore o v TE e ume 8 3
ITEaT 1 Tohe =Y F ST S 27

1. T 3Te% HuET|

2. IEITEF IT6E HUET|

3. 9F vIeg 52 B9 1@ 3117 I=+ § TE F 2

4. WIHTC G WIS YO 3 o0 7168 HaaT)

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496349272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

(TR TUTeR) T 3 T WA ST, 378 o & TENT H 6] AT 7, F1 FEAE 27
|. SATHIOT T T EF T
2. SITFIOT T SO 1

3. WISTF AET B I
4. AT HEET F EGAT SR A T ST T FAT
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496349272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

(GATHIITeR) T 3 T FHE ST, I oOF & TART H AN AT 8, FT FEeAl 27
|. SATHI FT FELTE T
2. ST T TUTEF T

3. AT HTavT g I
4. AT % HEET i EEAT SR ST T 3 TN AT
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 36496349273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Frferftas 8 & Fia-a1 T EEE e F14 5 g 22

. Tareelf st weett @ | B, 99 2AT99 3eue % w0 F forgd B

3. 3T TG % oRGl HT AFT FAT AN TG AW T ATTIFAT B IH ferEg |
4. TE FTE % T H WEANICH 1T e T ST &9 & o7 |

Options :

—_—

| ]



1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 36496349273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tr=forfies & & Si-a1 TEET SET FE B AT 27
. Toremeff <t veet 9 9 wee 2, ST <A 3eure & w0 F g
3. 7= g % oREl 1 Aohel AT AN S AR T ATTTIHAT B 29 (1Tl

4. TE HE % B H WEANICH T e [T ST &9 § o7 T]

Options :
1.1
2.2
3.3
4.4

—

(]

Question Number : 144 Question Id : 36496349274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TG F THTEFAT 2ATHAT 3 170 HeTeiigd | o Tairees ®9 9 397 5419 § 7@ 5% 27
1. UTgEE, ST H U Fur sesar
2. ZaTERTer & fur, e A e
3. TIEAT FAT AT
4. fawa (d), Ffe-femo qur fawmasg
Options :
1.1
2.2

3.3
4.4

Question Number : 144 Question Id : 36496349274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

G o THEHR] ATHAT 5 [0 (= 1eigd 3 & Tk ©9 & 597 S 5 TG ST 87
1. UTgEEE, SATEH A AU T SEEar
2. ST H OO, WIS 74T TETE
3. TS FAT A

4. fawz (of), =i e qar favaag

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 36496349275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A forelt v Tl 5 & freft vien fawr S e o o & O S F s i e w6 ves faw i veee
AT 2 U T AT WTST H SEeRT TANT 61 7 UAT ] 7Y 59 9768 FUaT Rl F4T FeAl?

|. TR T8 HueT

2. HiaT TeT

3. Tafere sree-gusr

4, FEF IR

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 36496349275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FAR Tt e Wt o & Tt wreq faw o weer o ot # 91 e o s s A w7es o i veem =
AT € U T AT WTST S SO TANT 61 7 UAT 2| 27T 59 9168 FUaT Hl F4T FeAl?

|. TR T8 HueT

2. ST IR

3. Tafera sree-guer

4. w TeT

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496349276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Trferftas = oras 7 T 2oft & eomm

FUAT ST 36 o110 et 5 v =i B 39 =i = o g U FATET F g § ot
|. T G
3. T T
4. STEE SET

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496349276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Trferftas = ora & o aoft & s

FEUAT T 3 170 e 5 U =i B 3% =i ¥ W= o g AU SATET g § e
|. IOETHF G
3. TaegmuTeas oEw
4. ST oET

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 36496349277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT 27: ST ST Fiere (BICS) e w82
1. To= wfafem T T2 =77 o7 % 9239 o fom um
3. A o 7o famm o e
4. FFATR SO UEST 3 To7 |7
Options :
1.1
2.2

3.3
4.4

(=]

Question Number : 147 Question Id : 36496349277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
HTETHA A T her HHSUTeS S (BICS) e e 82
. To ofafes qur 7= 1% =19 & 3239 & form am)
. WSO T2 3 T, 9T
3. A9 e 7T F=m o e
4. FFATRT EUTOTEHS & 3 TorT |7
Options :
1.1
2.2

3.3
4.4

[

Question Number : 148 Question Id : 36496349278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e ] T T TITAI0T A B I W U DI UISAETEI S HS T AT
. T T T WAHTH
. AT TATAT FAT oA o F TS

3, %Wdﬁ#agw%wmﬁ%@ﬁ%mm|
4. T Fit TIAAT T AFA(CAT FF | TS, FA

Options :

—_—

| ]



1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 36496349278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e ] T T TRTAI0T SA BY I W U DI UISAETEI S HS FT AT
. T T T EE
. YT T T AT o= B 3 A g,

3, %aﬁdﬁ#agw%qﬁmﬁ%@ﬁ%mml
4. U i AT T AFA YT T § TG F

—_—

| ]

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 36496349279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TIEWRITeTAT o SATeheT H T @A T 27

. T JRAT AT TS o AT § ST i YA o A redd i

. WTNT AT o foTe ST=mTeae AT

3. Tt amr ve weETati & wrer st 3 gEiEt (SeTern) # saatiyd dwe|

4. TS ST o 90 FiTTeges T ST S|
Options :
1.1
2.2
3.3
4.4

—

(]

Question Number : 149 Question Id : 36496349279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

QIEhITeTdl % SATaheT § 9T GiEATed 27
. 7% Jreal a1 YETERTEl O AL W ST ) GUR o SaaTedd air|
2. WTST ST = To10 ST e
3. fermeff g ve wEETEt F wreT ATy 3 gEiET (SETETOn) T SHa R S|

4. TS ST 3 90 FiTTegeR FUT ST S|
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 36496349280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TE STATIS [T 1 AT 170, T 37k AT HieTe ST I=a0T H F TATGa] 9 STTET SF A0 TeAfal
A TG AT | VT TE FHIE F U A FA 8| T8 AU AT 6 AT A J IS ] G 3 (oA

B \EACEE

. IETETOT 3 HTTT | TEITOT T 19T

3, UG s

4. WgrE

~2

[a—

(]

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 36496349280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TE SIS T &1 AT [0 S 37 1= HieTe S I 5 F TAT] 3 IaTER] S I T F
X TS AT | VT IE WHIE H U S FA 5| T8 A WA 6 AT I J ISR ] G (A

. 3t faredmor

. IETETOT T HIAT § =TT 19T

3. S FIe

4. TfgE

w3

[a—

]

Options :
1.1
2.2
3.3
4.4



